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General Instructions :

Read the following instructions very carefully and follow them :

(i)
(i1)
(iit)
(iv)

(v)

(vi)

(vii)

(viii)

(ix)

This question paper contains 30 questions. All questions are compulsory.
Question paper is divided into five sections — Sections A, B, C, D and E.

Section A — questions number 1 to 12 are Multiple Choice type questions. Each
question carries 1 mark.

Section B — questions number 13 to 18 are Short Answer type
questions. Each question carries 2 marks. Write answer to each question in
50 to 60 words.

Section C - questions number 19 to 23 are Long Answer type-I
questions. Each question carries 4 marks. Write answer to each question in
100 to 120 words.

Section D - questions number 24 to 26 are Passage, Cartoon and Map-based
questions. Answer each question accordingly.

Section E — questions number 27 to 30 are Long Answer type-II questions.
Each question carries 6 marks. Write answer to each question in 170 to 180
words.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

SECTION A

Questions number 1 to 12 are Multiple Choice type questions, carrying 1 mark

each.

1.

12x1=12

Which one of the following was signed to establish ASEAN ?
(A)  Singapore Declaration

(B) Bangkok Declaration

(C)  ASEAN Declaration

(D)  Beijing Declaration
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Yo7 &I 2 % 1078, G BT 5T T — [H T Bl SYHIT (A) T TR H
FRYT (R) ZRT 375 1637 TI7 8 | 37 F91 #1717 & 9au 3N 717 5T 70 fabeqr
(A), (B), (C) 31T (D) ¥ & 3 & &7 & & lashey gy /
2. HMHYT(A): WRA AR AUTA & 9 AL TG 7 IR GET I b oW Th
s g |
HRU(R):  -91@ % TSN 4 2001 H Th ASEd AlhdA-GHIS G &
ST Th T Al A St AN i bR H o |
ICET

(A) AT (A) 3R HROT (R) T T&l & 3T SR (R), AMTHA (A) HI
g TSAT HdT 2 |

(B)  AMhYH (A) 3R SR (R) THI F&l &, Tg HRU (R), AMTHA (A) H
el AT T A g |

(C)  3fehed (A) &l B, Tg SR (R) TeTd 7 |

(D) 3T (A) T &, T HRU (R) HEl & |

3.  fopm wean 3 Sar urdl o oA w1 Am ywRe feRam 2
(A) B AT
(B) 1969 1 UZUfd TG
(C) 1975 hi JTHTAhRI SO
(D) 1974 I I gSA@

4. TmfafEd 4 9 HH-91 AGeH IT-F & A g’ 39 Sl Tepianati
Sk A o Q. 7T Teparm T ot ?

(A)  =TEl Al o Raars e

(B)  31freh TamRIdT o foTq 3Trgie

(C) TARR % ST 1 99 §H o [T ATGIeH
(D) 3T % o A
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For Question number 2, two statements are given — one labelled as Assertion (A)
and the other labelled as Reason (R). Read these statements carefully and choose the
correct option as the answer from the options (A), (B), (C) and (D) given below.

2. Assertion (A) : India and Nepal enjoy friendly relations and both have

signed a treaty.

Reason (R): The king of Nepal accepted the demand for a new
democratic constitution in 2001, in the wake of a strong

pro-democracy movement.

Options :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

3. Which incident paved the path to form the Janata Party ?
(A)  Students’ Movement
(B)  Presidential Election of 1969
(C)  Declaration of Emergency in 1975
(D) Railway Strike, 1974

4, Which one of the following movements was not started by the people of
North-East to express their regional aspirations ?

(A) Movement against outsiders
(B) Movement for greater autonomy
(C) Movement to form a union of North-East States

(D) Movement for secession
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sictert ¥ ST o & 91§ fafafed @ 9 w-91 s 7e7T 3 2
(A) s B Toifa faefamt & gt @ off |

(B) dftreti o f&ai st 3u&m i T8 |

(C) Taee =t Treh <t w1 Tweda e o |

(D)  #iciept shi AT T 8 gt s after it o |

T < fop8 &3 1 H1d 984 hal I & ?
(A) IW-YF & (B) cferur-ufyem &=
(C) S-ufyem &= (D) TfEoT-vd &

Yo7 G 7 % 107G, 1 FeT 1Y T § — [ T H SHGT (A) 7T G F]
HRY (R) gRT 37fHd 47 797 8 | 57 F91 #1 e97/7 & 9iew 3K 17 7w 77 faseyl
(A), (B), (C) 3k (D) 7 & 3R & &7 4 &5} faaheq g7 |

7.

STYHYT (A) : WRA H TIH AW IAE HI Q IR TR@ HEAT 981 AR 79 H
IR 1951 ¥ BE 1952 Tk IHE TN fohT T |

FRU(R): 319 I8 doh o1 9va a1 o1 fop e o ifden & wete |

AT ITE &1 &1 Hehd 3 |
ICET I
(A)  IIYHI (A) 3R SR (R) ST Tl & 3T HROT (R), AR (A) I
T AT AT B |

(B) (Yo (A) 3R SRl (R) HI T&l &, Tg RN (R), AMTHH (A) H
e AT FgT 1 & |

(C) ANTRY (A) & &, Tq SRV (R) T 3 |
(D)  AfHA (A) TAd 8, Tg HRU (R) Tl 3 |

1974 7 fop <1 TSl o BET A Fgdt @ hiHdl & Rae® Aiere S o 2
(A) I IW 3N fagr

(B) UM 3R fo@r

(C) ToER iR Terra

(D) fogw i wewr wew
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5. Which one of the following statements about the ethnic conflict in
Sri Lanka is false ?

(A)  Politics in Sri Lanka favoured the Sinhalese.

(B) Interests of Tamils were neglected.

(C) LTTE was supported by the SAARC countries.

(D) The Sri Lanka ethnic problem involved the Sinhalese and the

Tamils.
6. Which region of India is referred to as the ‘Seven Sisters’ ?
(A) North-East region (B)  South-West region
(C)  North-West region (D)  South-East region

For Question number 7, two statements are given — one labelled as Assertion (A)
and the other labelled as Reason (R). Read these statements carefully and choose the
correct option as the answer from the options (A), (B), (C) and (D) given below.

7. Assertion (A) : The first general elections in India had to be postponed
twice and were finally held from October 1951 to
February 1952.

Reason (R): It was no longer possible to argue that democratic
elections could not be held in conditions of poverty or lack
of education.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

8. Students of which two states started an agitation against the rising food
prices in 1974 ?
(A) Uttar Pradesh and Bihar
(B) Rajasthan and Bihar
(C) Bihar and Gujarat
(D) Bihar and Madhya Pradesh

13-59/3/2 7 P.T.O.



o o 0

9. THfaRad ® ¥ 9 ARG 1 JoW &I IAE GE AT ?

(A) GPUR T (B) WU 3mEX
(C) . IS (D) wged

10. T I 61 = 11 8 gt fiem hif

gl 1 gl
1L g g i) wE
2. fomiw onfoes &= (i) onfEEm
3. Y U G ufig 1 TATS TS < (i) 0
4 &= TTe (v) ==
g faehed 9T -
(A 1-(iid), 2-(iv), 3-(1), 4-(ii) (B)  1-(iii), 2-(i), 3-(ii), 4-(iv)
(C) 1), 2-(1), 3-(iv), 4-(iii) D) 1-(v), 2-(ii), 3-(iid), 4-()

11. FafaRaa gerett wt Frespugar syafea S
(i) fova de 6t e

Gi) Tava =R Geq i w9

(i) EIH Y T I TATHT

(iv) STaUgia A1fueres SHort U=t shl T
wal forshed gHT

A) (@), (i), (v), (i1)

(B) G, (1), (id), (iv)

(C)  (Gid), (i), (), (Qv)

(D) Gib), (@), (Gv), (1)
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9. Who among the following was the First Chief Election Commissioner of

India ?
(A)  Sukumar Sen (B)  Karpoori Thakur
(C) K. Kamaraj (D) Narendra Dev

10. Match List I correctly with List II :

List I List IT
European Currency ) France
2. Special Economic Zone (i1)) ASEAN
3. A permanent member country of UN Security (i1i) Euro
Council
4, A Regional Organisation (iv) China

Choose the correct option :

(A)  1-(id), 2-(iv), 3-(1), 4-(i1) (B)  1-Gid), 2-(3), 3-(ii), 4-(iv)
(C)  1-(i1), 2-(1), 3~(iv), 4-(iii) (D) 1-Gv), 2-(11), 3-(iii), 4-(1)

11. Arrange the following events in chronological order :
(1) Establishment of the World Bank
(ii))  Establishment of the WTO
(iii) Establishment of the UNO
(iv) Establishment of the JAEA
Choose the correct option :
A) (D), Gii), (Qv), (ii)
B) (i), (), (iii), (iv)
(C) (i), (i), (), (iv)
(D) (i), (), Gv), (ii)
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12. TfaRea o @ +59 a3 Usg 6 Uh Wi 777 2 2

(A)  IIEhI
(B) fova ey g
©) IfE®

(D) ®Yh Tcg YLaan ahwg

Qs @

13. U SUIGHA HIT i o His &l 9@ IRIT |

14. <9 g A rfeaEen § YR o fofu 3¢ MU Rl @ heHl 1 Ieci@
s |

15. ST % Hiag™ i fohegl al frRwarsti i I9mR IR |

16. SF WM hl ¥R hIfSU |

17. G T39EH o &9 H hIUY U hl HRIYUT sl T hHIT |

18. WG 3 I & 9=y fordl & wawel =1 favamu e, e wror 1962 4
=1 |9 g7 o |
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12. Which one of the following is not an agency of the United Nations ?

(A) UNESCO

(B) WHO

(C) UNICEF

(D) UNSC

SECTION B

13. State any two effects of imposing national emergency. 2
14. Mention any two steps taken by China to improve its economy. 2
15. Highlight any two features of the Constitution of Bangladesh. 2
16. Explain the Bombay Plan. 2
17. Explain the functioning of the Congress Party as a social coalition. 2

18. Analyse any two differences between India and China which led to a

military conflict in 1962. 2

13-59/3/2 11 P.T.O.



19.

20.

21.

22,

23.

wQ|us 1

(%) UNd H Teudd THR fhE YhR wlehdd o fo atgq @ifed g5 8 ?

Wy HIVY |

AT

(@) 2014 % TG H ST g H UH TR GwhR F vt H w6t of 2 feedi
HRON ! TT HITT |

ot H Arehad o wmaen oSl 9 R areht feRedl @ gl avi
HIT |

Tifera womel! #§ gaw o fow meataa i yfiest &1 quH HifT |

(%) “ara 7 foftm snum W gg® TP & gAied &1 wqeq S 8 |7 wem
=1 gfg hifu |

HAAT

(@) “gg® UY U GIR A 1 31 Grear qiug 1 TS BT 7 |7 e i
ATIETd 38UST, |

“Sfiar TTRTEATd qor 3ehT THTISI WA Alehdifieh TSHIfd ohT Teh ST 371
2 1”7 Tonegl Q1 IUY ekl § e I g iU |
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19.

20.

21.

22.

23.
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SECTION C

(a) How did the coalition governments prove to be a boon for

democracy in India ? Explain.

OR

(b) In the 2014 elections, why were people in favour of a stable

government at the Centre ? Explain any two reasons.

Describe any two challenges that delayed the establishment of democracy

in Nepal.

Describe the role of Gorbachev to reform the Soviet system.

(a) “India has supported the restructuring of the United Nations on

several grounds.” Support the statement.

OR

(b)  “Reforming the United Nations means restructuring of the

Security Council.” Justify the statement.

“Regional aspirations and their accommodation are an integral part of
Indian democratic politics.” Support the statement with any two suitable

arguments.



Qs ¥

24, WA % fU U ToHifos WWuHRE (758 15 W) 8§ IR T w1 @), @), ©
qur ) & grI 3iferd foham T 2 | R @ 8 IHER F SNYR W 3 Al i
g T 3R Tuft ITR-gfeasrt H g9k |dl A1, Y I TE e
HH-GEAT qAT gHred § fear wn gefya 1er, = & 8 darfeer & &9 H
fefan -

TR <l TS JAHRR
T SH-EET

Al 1 fean mn
Hafq 3TeR

Y <l HH

(i)

(ii)

(iii)

(iv)

(i)

(ii)

(iii)

(iv)
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I8 T &1 HE el 1 1967 & FAEl § SEHA BIES TE I AT |

4x1=4

I8 ST T&l HIUE I 4 1967 % Gl H FgAA G 81 (AT o,

W I TAl o FHIT E R &1 & off |

FHISETE] A1 TH T8 Alfedl § Faied T |

9 @ qd agafa .. it & qefia o= |
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U9 9. 24 & fQ

WA T {@I-qrfers (Tifaes)
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SECTION D

24, In the given political outline map of India (on page 17), four States
have been marked as @), B), © and D). Identify these States on the
basis of the information given below and write their correct names in
your answer-book along with the respective serial number of the

information used and the concerned alphabets given in the map as per

the following format : 4x1=4
Serial number of Concerned
. . . . Name of the
the information alphabet given in
State
used the map

(1)

(ii)

(iii)

(iv)

) The State where the Congress party did not secure majority in
1967 elections.

(ii)) The State where Congress party did not secure majority in 1967
elections but formed the government with the support of other

parties.

(iii) The State related to Samajwadi leader, Ram Manohar Lohia.

(iv) The State related to the former President of India, V.V. Giri.
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For question no. 24

Outline Map of India (Political)

13-59/3/2
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g : HECIREga o7 #ac R el & 77 307 &1 24 & € W/
g 4x1=4
(24.1) A FEIGL AT 4 Hi-A1 g T/ feam o 2
(24.2) WA TSI o forT ek 1 “GdiATeh ek hal JdT 8 ?

(24.3) 1969 % TFUfd IATd | g et 4 fop Ioigar w1 wqela fomam o 2
(24.4) ‘AT T, T TW SO § THITET TT HIH-91 7 ?

25. dfcid s GO 9 ety A= few 7o fam v steme Kifs qen Fefafaa geat
% I QI 1+1+2=4

Y
()  fdT i e fhe a1 1 Tt ot ?
(i)  sfel ot Zrem fob <1 ol < sfter s+ gg off 2
(iii) @i 1 AR o ¢ o fohral G IROTHT I ITTR HIWT |
TIE : [HETCTRIT 97 Facl GIRATINT GHATIAAT & 079 J97 &7 25 & €4 T & -

4x1=4
(25.1) fgdia foma gg form Iy &t gamm o1 ?
(25.2) ®fctd <l SR forg oy TS T8 off ?
(25.3) Eiforard | 1 forerest fope o g3tm o 2
(25.4) 1985 H Hifowd &9 ! HEYE UTEl I HgMEId S Tt -dl i A1
fetfae |
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Note :

25.

Note :

The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 24 : 4x1=4

(24.1) Which popular slogan was given by Lal Bahadur Shastri ?

(24.2) Which decade of Indian politics has been referred to as the
‘dangerous decade’ ?

(24.3) Which candidate was supported by Indira Gandhi for the post of
President in 1969 ?

(24.4) Which State is related to the phrase ‘Aya Ram, Gaya Ram’ ?

Study the picture given below related to the Berlin Wall and answer the
questions that follow : 1+1+2=4

T

i) What did the Berlin Wall symbolise ?
(ii)  Between which two countries was the Berlin Wall built ?
(iii) Highlight any two outcomes of breaking of the Berlin Wall.

The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 25. 4dx1=4

(25.1) In which year did the Second World War end ?

(25.2) In which year was the Berlin Wall built ?

(25.3) In which year did the Soviet Union disintegrate ?

(25.4) Name the leader who became the General Secretary of the
Communist Party of the Soviet Union in 1985.
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26. f=fciRga sraae i =amYE® afer i fiw iU o wodi o SR . 4xi=4
1980 % & H Gfetd Sl s TS SaAT 1 | 367 g7 | 1978 H
‘“mE%  (BAMCEF) 1 &4 g37 | 48 Hed WhM AN 1 i3
YR ¢8 (I &1 A1 | 36 WS4 4 9go AT Iqgf=d i, A=
ST, 3T ISl Ol ot TcqEThl hl TsHIfder Tl 6l Teekd diher]
&1 | 3H 1 Wadi o efera-wniva g g o 8, S99 o9 & a5
H Sgo HETS el (SH9T) 1 35T g3 |
(i)  STHE% 1 H9E U §9 M -

(A)  9gSH 3R AU FHSH HHAN g9

(B) ¥gSH 3R FAcqaedsh TS HHAN HEAH
(C) Traer 3R fcuers TUg™ HHar 99
(D) TUSST 3N FeuaETs TG HHAR TEIH

(i)  SgSH EHIS ISl I T foh8 a9 H T AT ?

(A) 1981
(B) 1984
(C) 1989
(D) 1991
(i)  SGSH THTS YISl hl TEATTR T i AT ?
(A) IR, FrESH
(B) WIS
(C) Hoarm g
(D) IR
(iv) =gsH gt ardl (sen) A fope Tsa § 1ol veell weehr fed i off 2
(A) TE
(B) @Ramn
(C) I I
(D) USIEIH
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26. Read the following passage carefully and answer the questions that
follow : 4x1=4

The 1980s also saw the rise of political organisations of the Dalits. In
1978 the ‘BAMCEF’ was formed. This organisation was not an ordinary
trade union of government employees. It took a strong position in favour
of political power to the ‘bahujan’ — the SC, ST, OBC and minorities. It
was out of this that the subsequent Dalit Shoshit Samaj Sangharsh
Samiti and later the Bahujan Samaj Party (BSP) emerged.

(1) Choose the correct full form of BAMCEF :
(A) Bahujan and Minority Communities Employees Federation
(B) Bahujan and Minority Communities Employees Foundation
(C) Backward and Minority Communities Employees Federation
(D) Backward and Minority Communities Employees Foundation

(i1)  In which year was the Bahujan Samaj Party formed ?

(A) 1981
(B) 1984
(C) 1989
(D) 1991

(iii) Who was the founder leader of Bahujan Samaj Party ?
(A) B.R. Ambedkar
(B) Mayawati
(C)  Mulayam Singh
(D) Kanshi Ram

(iv) In which State did the Bahujan Samaj Party (BSP) form its first
government ?

(A)  Punjab

(B) Haryana

(C)  Uttar Pradesh
(D) Rajasthan
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217.

28.

29.

30.

(@)

13-59/3/2

Qs g

YT BT ! Uehd o fTU WA TR g7 3I3TT 7T fehrdl i sheHl h
=R IR |

AT

TITERT I BE H F9H H Hg@qUl q{HeR 9 arel foheal @ et
STTGIEHT shl YfHeRT 1 T8 HIfT |

H1E b <R HRA g TS T efaadr i Aifd” b1 =t
Salley |
atera

“raaa vra i fagw Aifd 3 e wmfaqel fova % 999 F AR HE w0
o TR & |7 T SUGRR Rl o A1 he hi Y i |

1947 ¥ TAAAT % GHT WA % GHY TS Fhedl diF qed ARl 6
U HITT |

AT

1947 ® Tofewr sfean o fowE i gfskan # ot fohgl o W@
HiSTEAT 1 qUH HITT |

et fova g o dvamq umn 3R Thish & a0 Tad ¢ & G TS
Topegl T e A hl Smen Hie |

YT

TR e WHITG o fohedl i =eehl it amen il |
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27. (a)
(b)
28. (a)
(b)
29. (a)
(b)
30. (a)
(b)
13-59/3/2

SECTION E

Explain any three steps taken by the Indian Government to check
environmental degradation.

OR

Explain the role of any three environmental movements which
played an important role to save the environment from

degradation.

Justify the ‘policy of Non-Alignment’ adopted by India, by giving

any three arguments.

OR

“Foreign policy of independent India has pursued the dream of a
peaceful world.” Support the statement with three suitable

arguments.

Describe any three major challenges faced by India at the time of

independence in 1947.

OR
Describe any three major difficulties that came in the way of the

partition of British India in 1947.

Explain any three security challenges faced by the newly
independent countries of Asia and Africa after the Second World
War.

OR

Explain any three components of the Indian security strategy.
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